
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 285

7 m = 700 cm

76 m = 76000 mm

70 km = 7000000 cm

35 hm = 35000 dm

52 hm = 52000 dm

13 km = 130000 dm

94 km = 94000000 mm

21 km = 2100000 cm

13 dam = 130000 mm

77 km = 77000000 mm

800000 mm = 8 hm

37000000 cm = 370 km

10000000 m = 10000 km

8000000 mm = 8 km

35000000 dm = 3500 km

850000 cm = 850 dam

240000 cm = 240 dam

1000000 mm = 10 hm

460000 cm = 460 dam

2500000 m = 25000 hm

64 dam  et 85 mm = 640085 mm

64 dam  et 96 dm = 6496 dm

49 dam  et 55 cm = 49055 cm

18 hm  et 95 mm = 1800095 mm

70 dam  et 35 dm = 7035 dm

29 dam  et 87 dm = 2987 dm

4 km  et 39 mm = 4000039 mm

12 hm  et 19 mm = 1200019 mm

80 km  et 8 cm = 8000008 cm

52 m  et 35 mm = 52035 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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